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Hemchandracharya North Gujarat University PHD Exam

Exam Name : HNGU_PHD_Pshycology 31.01.2024 12.00 PM TO 02:00 PM
Exam Date : 2024-01-31

Exam Time : 12:00:00 PM To 02:00:00 PM

Total Marks : 100

Note : The correct answer is indicated by the green color. ALl
¥cllol Glal 31 GlRL yUddIHi w1 8.

Question List:

Section: Section-A

Characteristics of research include which of the following? -

2yt M iclAd 1Ml s W I dallYHIAAAIUD? [ 1 Mark |

Research is a logical process - AedARdI5sulsau1d

Research demands certainty - UAHAASSULEH D

Research is a patient process - %{anudﬂmwtﬁssm IHiladlulsuld
All given - ¥1Ud dHIH

What is studied in a case study? - 3-22SIHi 211o1l240ALH SAIHi 211d & [ 1 Mark |

= A study of someone - S16u s (Sl A ey LY
= An institutional study - 3% Al le1] WYY

= A community study - w5 Hlii.lufn W& Y

= Above all - GURell WY 1%

In which research method is it necessary to test the effect of grooming on the sample characters? -
$86 A2l Uegldui etyetloll ULl U HId%doll AR USIA] %3 82 [ 1 Mark |

s Experimental method - N EE] uu;f&

» Cause-comparative method - SRQl-{LC‘Mld-lSLli(,El
= Developmental method - [&Sl%{c‘l&ﬂl—l%[a

» Historical method - aﬂélﬁifsl{t(,fa

Data used by an agency which is originally collected them are: - vogaRil fARA} GualaMi Aqui
v ddl HilEd] B Yoned dHa dIs[Ed sAMi 241 8 d 8: [ 1 Mark |

= Primary data vtes uilfedl
= Raw data - SI{HL[SA]

= Secondarydata - [sulcsAllast
= Grouped data - °§911-ll[:5,<ﬂ

Which of the following is not included in the source of primary data. -
oflAstiHiellsulutaisHISdla Rl duiuHL[destel. [ 1 Mark |



RBI report - RBI «l31U12
Group discussion - °§(9Rlllf
Interview - H4l5ld
Observation - 3d ¢Sl

Which of the following pairs is considered to be the primary source of both research papers? -
oflAu Ul SIANUSL s SN Sed Loia A tet-u LN U 1L A SBN AL [ 1 Mark |

Research report and research paper - A2AustnSdld A UAUYR
Research report and research paper - UM S IgWAdLAUIRILL
Rescarch Paper and Research Summary - 320 teUU {0t R(QL

» Not even one of the given options - 306 [dsuq SN SURLA (S

What is not usually included in the historical research method? -
A (dsLAsA2MUotuegdidLH U d:2A ey H I A dl1e(l? [ 1 Mark |

= statistical analysis - 2*{'[35[2[[%1'1211{?1652&[#]
Getting Result - URRIIMIANdd [+

Data collection - HL[E{1A 551 52131s1]

Review of literature - A ¢0l{s11 (A Ustel)

Which of the following is an appropriate unconventional statistical test for data measuring scale? -
Hll&dlHIUslsS st IRAU A AMISS 12013 ASH 2| Al GUUILSALGRUAD? [ 1 Mark |

Identification and interval - 3K ABIdR1E
Identification and sequence - UQUIU{U{QU{{LSH
Interval - ¥{d21€

Intervals and ratios - 2 GWARdR

Cricket run data is related to which kind of scale? - [§32¢l12e12 5 IUSIRe(lMI[Ecdle2{AD? [1
Mark |

Nominal scale - sl 14U |2t 2Q(Nominal)
Ordinal scale - $Hd 13 58128|(Ordinal)
Interval scale - Uid?.lc'lhl-l?.'%l(lnterval)
Ratio scale - ¥{dR1€&8| (Interval)

What type of tool is useful for measuring a capacity? -
SIS UALALMIUAHI2SUIUS15,BUSAGUAL{NS? [ 1 Mark |

» Questionnaire - ysiladl
Hierarchy- $HHIUES
Visit - SHHIUES
Testing - 5412l

What is a pilot study?-l-llu-lfsl&z‘{(‘ﬂlﬂilj@? [ 1 Mark |

A study involving pilots.-UIALPLSE1R8L 521 546U 14
A study to test the tool of data collection.-

UllsdlAASARAIUAAUS IAAIH 2ol MU LA
A small scale study.-ollsl U150 [H A 1A d1A S AU
A study that is conducted first time.-U&H RS0 [H [ [A A1 5104 14

Hypothesis which explain relationship between two variables is YRSl B 0] Y| gl
doita qHANA B d & [ 1 Mark |

= casual-3[1dd

= rational-d5¥9ld

. descriptive-QQ[dld-lS
» tentative-SIHYEIG



Stratified sample is used when the population is:

dleAEeleusg (el GUAPIRAURISAMIMIADBAIRAYHR  S1UD. [1 Mark |

= Homogeneous -HHY
Heterogeneous- [aendly
Too small - W oilo]
Very large-U{* H12l

Which of the following steps is/are involved in report writing: édld Quisiui «{lA=1uie]l sul
wldi A 872 [ 1 Mark |

Logical analysis of the subject matter- CRUEIRER NN GRINE]
Preparation of rough draft-2$ §l8€°ﬂ du R

Preparation the final bibliography-4 [du 3191%1\[2101’1 Al

All of these-GU1R1Sd dHIH

If the Critical region is evenly distributed then the test is referred as -2\ UR'CJ.'L{;[?[ Uz.2Us]
AUl [l 2dd Sl dl, uleist A3 Wiy 8. [ 1 Mark |

n 2 - tailed
= |- tailed
= 3-tailed
= (- tailed

The purpose of hypothesis testing is to:-U[RsGUs1l uletstedl éq v B: [ 1 Mark |

s To test how far the mean of a sample is from zero-(a1£.2lell He S %Ldl%ﬂ Sed) & 8d
USIUAL HIR

= Determine whether a statistical result is signiﬁcant-U{i.‘sSL‘;lll URRIH «AluulA 8
Al A [AYiRd s2

» Determine the appropriate value of the significance level-dlelsd el 581 )oY Y& o155|
SALHIR

= Derive the standard error of the data-HL(&d{l+{] UHIBLGd aa”l dlRadlHle

¢ Level of significance lies between:-12[Scllel] S8l ql ¥1dd 8. [ 1 Mark |

= -] and+1
= Oandn
= Qand1
m -00 10 +oo

e Why do you need to review the existing literature?-cdH 12 ddHlol AL[Eo(] Aulatl saledl 2l
HI2 % 8? [ 1 Mark |

= To make sure you have a long list of references-
WldIlsd M REdHIRIUIRUsellainly 1D

= Because without it, you could never reach the required word-count-5$ R.Ql?sawll[awll,
AR sURU LAY SRAGE-IARI AU 21521l E]

= To find out what is already known about your area of interest-clH12l 2[Ae1l AU
uédiell 9f Muild 8 d Aluai ure

» To help in your general studying-clH [R [ IH MR [1 59 [HiHeeeUd YD

« Sampling based upon equal probability is called:-4Hlel J el UR WHLRd [Aeledil sediui
1d 8: [ 1 Mark |

= Probability sampling-@ildeil A41dLRd (162t
= Quota sampling-!scnal (.2l

= Stratified sampling—%d?.ﬂld [e2leta)

= Simple random sampling 4201 4289 [e1&.2lel

e In cluster sa‘x_npling population is divided into clusters or groups which are -
Uil edAugg(duiduesaeAuadIgelHiaSy A8 8 [ 1 Mark |

= Homogeneous -HHoUdl



= Heterogeneous [anudl
» Both a and b-Gisl A ¥{B
= None of these-GUH &[] S1&=1(&

What is the probability of drawing an ace from a pack of 52 cards? - 52 Urilell 3i‘@{sl‘-li2ﬂ NEQ|
vilddleil Aeildeil 32€l? [ 1 Mark |

» 1/52
s 2/52
s 4/12
= 1/13

Who invented the Chi-Square test?-SL5-c1o] U[R&1Q1+{l 201t $1Q| 53] &cll? [ 1 Mark |

= Pearson-(UdAel

. Spearman-%*ﬂd?.ﬂ"i
= Kendall-5o51¢

= Fisher-[621R

T-test is also known as t-test of 2. 2l-uRael 4 ol 2l-ulRatel dld ywl
vlnvidiHi 2iid 872 [ 1 Mark |

student-2¢Se2
School-¥§4
Teacher-2142
Principal- [Ueilulg

The total area under the normal distribution is 2- UHIRY ds &6Uleil 54 ([ddR sly
82 [ 1 Mark |

0
1
95
99

Which of the parametric tests is used to test the hypothesis of a significant difference in the mean of
more than two groups?-01 8l dy] ogelleil 42121 (Hras) Hi Alels dslddeil Ulseus sl
YsIARI sl HI2 Wil et WS s34 uRatet aiudiHi 2119 872 [ 1 Mark |

One sample t-test-015 E‘l&%[ 2l- U.ﬁ.&lQl
Independent sample t-test-2<ld= [eel & - uRasl
Correlated sample t-test-d0i [t gi&.%[ 2l- U.ﬁ?;l'%l
ANOVA test-ANOVA U[R&13l

Which of the non-parametric tests is used to test the hypothesis of a significant difference in the
means of the pre-test and post-test?-l-LCf su1el (pre-test) Val Gri sA12l (post-test) cil HR12l
Mrus) Ui Alels dslddeil ulseusiloll AsiIue0l sl 1R (Gel-uiadly uRere Usl 53
Rl diydiMi vi1d 82 [ 1 Mark |

Wilcoxon test-(cles) &lel UR 131
Mann-Whitney test-Hlol-cS| 2<il l-lﬁ_&lQl
Kruskal-Wallis test-535@-dlefly uRe1al
Fisher test- Es%ll uRelsl

The mean of a sampling is denoted by -(sie.20oll Hrausa a3 s2ladidix1d 8 [ 1 Mark
]

1 q Q=

Degree of freedom is _-%Cl('i?ldl*"ﬂ HIAL zﬂaﬂ_ [ 1 Mark |

= n-—1



= n+1
= n*1]
= n*n

Which measure of central tendency includes the magnitude of scores?-&ﬁu AdBleil $UL HIUMHI
281201l dlaidl A4 82 [ 1 Mark |

Mean-H¥l$s
Median-Ht|¥
Range-fa.%dl?.
Mode-Hgds

When the values in a series do not have equal importance, we calculate the-2U 12 Ailui 3-1\@-[.1
AHlol Heed HRLddl otefl, UL A Ll HI2.... [ 1 Mark |

s Mode-H{gds

= Weighted mean-®lL[Rcl 42121

= Arithmetic mean-3159L(Qld U312l
= None of these-GUHiefls1¢5e1[€

divides the data into four equal parts.- HLl&dla ULR AH Lol ML El(‘{l‘@‘)d
$38.[1 Mark |

= Median-He{¥]

. Quartiles-lltj?-l&l
= Mean-H&l$S

= None of these

The coefficient of variation is a percentage expression for SALGolls ¥ ure
2sld1Rell wlereulsd 8. [ 1 Mark |

= Standard deviation-UH L[Sl (Gl
= Quartile deviation-4qel{2l (AUl

= Mean deviation-43212L [AUds

= None of these-GUH e[l 51¢5e1[&

The average of squared deviations from the arithmetic mean is known as AHidR

Hirdsell ddyna  dil3 wnuididi 419 8 [ 1 Mark |

Quartile deviation - U.(jﬂf%l [dudst
Standard deviation - WHL[(Rld (dy el
Variance - [dY281

None of these-GUH &1 516<1(&

Which of the following measures of dispersion can attain a negative value? - ofl Aot 1M iel] sul
ULRAIRUIU] alS11HS YL WIH 53] 23 82 [ 1 Mark |

= Mean deviation - U3212U[AUE-
Range - (IR

Standard deviation - UHL[Qld[cyEe1
None of these-GUH &l 51541 (s

If AIRLINE is written as ENILRIA7, then RAILWAY will be written as - °$] AIRLINE o
ENILRIA7 GWdIHi 2119 8, dl RAILWAY dl3 duidiHi 24142l [ 1 Mark |

= YAWLIAR7
= YAWLIARS
= YAWILAR?7
= YAWILARS

Which number is wrong in the series 2, 6, 15, 31, 56, 93? - A&l 2, 6, 15, 31, 56, 93 Mi 58 vl
W1l 82 [ 1 Mark |

= 6



= 31
= 56
= 03

Which of the following is the odd one from the given alternatives? - w0 [dsculuiel
oflAetiniell sU (AU 2 [ 1 Mark |

Driving
Diving
Swimming
Sailing

Arrange the following words in a meaningful sequence 1. Sun, 2. Rain, 3. Child , 4. Rainbow,5.

Happy
oflAoil 2ol WYL sHUI ANN6cl 1. YA, 2. ARRAULE , 3. WS 4. AU, 5. V2L [ 1 Mark |

9

-

N L D

b

-

= 2,1,4,3
= 3,2,1,4
= 2,1,3,4
= 4,5 1,3

2

u

The day before yesterday was Saturday. What will be the day after tomorrow? - L8 SlGlell ¥ IIEL
(ead 21leAdlR edl. 21ddl sideil (€M Fcll ©212 [ 1 Mark |

Thursday - 2242
Friday - 5dl2
Wednesday - ¢{tdd1R
Monday - A1Hd IR

If the word 'LION' is coded as LMGJ. How is "MILK' written in that code? - %\ 'LION' 2l6£.al
LMGJ d3 5135 sclui w1 dl. d s1sHi 'MILK' 3<l d duiid 82 [ 1 Mark |

= JKFL
= KLIM
= KILM
s JJGK

Arrange the following words in a meaningful sequence — 1. Selection , 2. Probation, 3. Interview ,4.
Appointment, 5. Advertisement, 6. Application

oilAstl 210€1A BRI sHMI d0L6d - 1. YA, 2. WlG12let , 3. YalSld, 4. [[HQLS, 5. 2N S2Ud,
6. V1Y) [ 1 Mark |

= 5,6,3,1,4,2
= 5,3,1,6,4,2
= 1,6,3,5,4,2
= 2,6,3,1,5,4

5 5 5 5 5

Which of the following computer language is written in binary codes only? - ofl Aot LM el 5¢
5112023 MINL §5d vllgel] SISHI il 82 [ 1 Mark |

= pascal - Ul¥54

= machine language - Heflet eIl
« C-3l

s C#

Which of the following is not a type of computer code? - ofl Aot 1M jell sUl 5122 51Seil USIR
oieil? [ 1 Mark |

= EDIC

= ASCII
= BCD

= EBCDIC



Which of the following part of a processor contains the hardware necessary to perform all the
operations required by a computer? - UlAAell oflAstiniell sUL MU 51222 GIRL 3]
dHIH SIH{1R] sl HI2 e S1SdR S1A 82 [ 1 Mark |

= Controller - .S-SQIGR_

= Registers - W)

= Cache - 52l

= Data path - seLule

Which of the following are physical devices of a computer? - §12|2ell elllds Gus:wll
oflAetiniell suL &2 [ 1 Mark |

Hardware - &1SAR

Software - %nsaaz

System Software - [R124 AlsdR
Package - Uk

When she was in the university, she wake up early in the morning every day [ 1 Mark |

= should

= would

s will

= would have

Near the natural history museum, there is a bridge the river Nile [ 1 Mark |

above
over
off
towards

Katherine was very tired yesterday, she didn’t go to the o [ 1 Mark |

= but
= then
= such
= S0

It is a long drive to airport. [ 1 Mark |

= the
= an
LI}
CEBT

Srilanka is island. [ 1 Mark |
am

the
an

Section: Section-B

UL [GAA1Y Ad B. (1) [gAU 2uul () Iedlusl (3) Aag e2let (¥) AlNEL 5¢
This is a binocular cues. (1) Retinal disparity(2) Convergence(3) Dual vision (4) Relative size [ 1
Mark |

1&3
12 &3
4
1,2,3 & 4

Aullell Hd uctellsaL ) Geluslell Mlesioll UlsAL . - Perception according to them is the
process of differentiation of stimuli. [ 1 Mark |



ddeicll€] Hd.la.Sll[;L‘s-l - Behaviourist psychologists
Stlstlcds HelldStLAS) - Cognitive psychologists

U (BALEIHA1ASIL 5] - Gestalt psychologists
Hleldd €]l HelldSLL[eAS) - Humanistic psychologists

sUIs sUIRs vulel dufdeild of Eldl ©9di d duldild 8, ) Aoieid &ld). - Sometimes it is felt
that the object is moving even though it is not moving. [ 1 Mark |

2uildl atfd - Apparent motion
yclefl sl - Perception

Ald ucuglswl - Perception of motion
dlci(as dl(d -Real motion

A sds 2lda 193241 7% 53¢ ueild1Luil Riedid (R1&1leil sUi 1Y GUR GLIR Y3 87 -
Edward Tolman's theory presented in 1932 emphasizes which form of education? [ 1 Mark |

qlel(uls - Typical
o]l - Significance
ddstd €] - Behaviourist
SllelledS - Cognitive

sUL HollAsiL[51A (21a131 ulsaIni undlswte(l effist GuR (AN ei1R Ysil B2 (1) uladld

?2) 28l 3)ed @) dl2del - Which psychologists have laid special emphasis on the role of
reinforcement in the learning process? (1) Pavlov (2) Skinner (3) Hull (4) Watson [ 1 Mark |

1&4
1,2&3
2&3
1,3&4

Faulduly (et (BdduBl AU pASd U B2 - What exactly does biofeedback relieve? [ 1 Mark |

s (W3idl - Depressed mood

= YYYUS - Diabetes

n olly deild Hielleil §U~llq-1 - Muscle tension headache
n AR{SIEL - Acidity

Ll v (e1Ritlet (218181 dulIR £ vl %l........- If classical conditioning becomes more
solid....... [ 1 Mark |

CS ol US ¥ejAR. -CS followed by US.
US =l CS 4R, -US followed by CS.

CR 9 US 3. - CR followed by US
US o CR W3, -US followed by CR.

gldsicllol YlaHi AAlEd guie, Ridl WS HLlEdleil Yot: UM adl Y2ddl A 9f s@al. -
Difficulty retrieving sad, anxiety-provoking information stored in long-term memory is called. [ 1
Mark |

H\Zldes [&H(&-Motivated forgetting
AN RS [&H[a - Amnesic forgetting
Wousflg E{P-Lfa - Abnormal forgetting
R K [EI.P-L[:‘[ -Cyclic forgetting

B [d YURBLL HIR2 %13 D. (2) UldHL ABdisel (R) A6 A Yotl: UL (3) 2160l ia Yol UL
%) He ldIR] - Essential for memory improvement. (1) Image Coding (2) Reference and Retrieval (3)
Organization and Recovery (4) Practicing [ 1 Mark |

n 1&2
" 4

= 1&4

" 1,23&4



SllelleHs Hell[dasiletni slaye: veq.......... A [qurel Aed.......... 82 - In cognitive
psychology computer is .............. and thinking is........... ? [1 Mark |

Aol \Gl | [+19] -Brain, planning

Al A 2;1%[, LAl -CNS, Programming
Al Aol 1Y, W12l - CNS, Planning
@.901,1-[.13,{1{'[3[ -Brain, programming

(cetiastia] voios lsdalivilaluedl 8 @ culsda qull........... Ad ([Aurrdle(l aqudl 2410
8. - Concepts are very powerful tools that allow one to think in a more ............ way. [ 1 Mark |

WollY -Unconscious
U{H\({ - Abstract
N@H}J{ - Orientation
[AeLdS - Positive

U1 HH% HSUl GYC s €13 AU AUIR ..... AAA © AH HeildAsiLlels) Hia . - Psychologists

believe that .......... has occurred when Sense leads to a quick solution. [ 1 Mark |

(4181 - Thinking
U&el - Recitation
BidY» - Insight
W {RBL - Follow up

UL U%ellHS [AURRILL oil AuiSS) oteil. - This is not a stage of creative thinking. [ 1 Mark |

AUl - Preparation
udi[&ddl - Fluency
Adsl - Incubation
WelUel - Illumination

s\ (s SeBs2el G121 FoY[Clol 1w sAMi A dl d ... %= 1d 82 - If insulin is
injected into a person, it results ........... ? [ 1 Mark |

°‘ﬂﬂ 25¢l 2151 UHLBL - Low blood sugar
WLl ®{1oselell A 5d - External eating cues
GY5d 25 UHLL - High blood sugar
%2Q2| - J etlag

U [ScMi AU IR GAXell Aoil S1) &ULY 2 - What causes moderate excitability in a person? [ 1
Mark |

4 SYUAR - Blood pressure

il 51422204 - Arterial cholesterol
Qslt"l(‘lléd &\4let - Arterial cholesterol
vid:a1d124e]l - Endocrine gland

NEIEIE| Q.U{ll.@.ﬁl%id 518\ [dsA1eU)? - Who developed the E.R.G. theory of motivation? [ 1
Mark |

$Q2lol WIESUR - Clayton Alderfer
55RRs &R - Frederick Hertzberg
WullH H124] - Abram Maslow
21ULS &5 - Richard Hackman

W Bal dAell [o1dxARLefl cucrell ofl 2118l FISIAC] B2 - What is the control system of
hunger and thirst connected with? [ 1 Mark |

2@HY - Thalamus

SLEUl AUy - Hypo thalamus
Auig STé&l - Cerebral cortex
ollof HII°% - Small brain



18 cu s el dideiui ws Aveoil vied olX] A0e dALA B, WEL 58 VWAL 514 52 B? - Which
motivation is at work here when reading from someone who reads one word instead of another? [ 1
Mark |

¢[® €lN - Vision fault

10414 W2BLL - B Unconscious motivation
2¢Y YRLL - Habitual motivation

Ho L4 U L[S WRWLL - Habitual motivation

W 1QILell s2182letl Rittid 5181 AUANU] 82 - Who has explained the crisis theory of Emotion? |
1 Mark |

» 2R Yolol - Walter Cannon
= Q1Y 421 - James Lang

s B o - James Angel

= [&421LS - James Angel

AUAUL[CA HeS LAl AL ML UL B? (1) AslefsUl (R) AN (3) UL (¥) o bul
(M) HEYMLIL - What are the three parts of the autonomic nervous system? (1) Parasympathetic (2)
Cranial (3) Sacral (4) Sympathetic (5) Spinal [ 1 Mark |

n 1&4

= 23&5

s 1,234&5
m 2&3

518 3§ wWlnseil HislRSs dU defl GHR 5l AUl Sl LR dell 1Q ol Sl AUl SlU? -
When a child's mental age is higher than his age, his I1Q is higher more than what? [ 1 Mark |

= 90

= 100
= 110
= 120

VL AS WLl GeAAUSH(] %etoild Id Geust &A WIH] B2 - Is this a genetic defect of an
important enzyme? [ 1 Mark |

= 521 @3\51—[ - Cretinism

» Y&HH [Reidsdl - Micro-encephaly

s O4Ssl [Reidsdl - large brain

. ?5[31(133%12'1%11 - Phenylketonuria

16 PF 41214 S18| culsricdaii Ulalell 16 €25 BA1viLc] 8. - Who identified the 16 basic
components of personality in the 16 PF test [ 1 Mark |

sQ2lel - Clayton

355 [RS - Frederick

oS X - Raymond Cattell
= 519 Y2l - Carl Jung

5193 29 534 HollANdlYU [AslAeil doisslal AU sHUI N6l (2) YYH el (YU Adell

3 (o1 vecrRell (%) Al 11l - Arrange the stages of psychosexual development presented by
Freud in the correct order. (1) Latent stage (2) Oral stage (3) Phallic stage (4) Anal stage [ 1 Mark |

s 234&1
s 2,1,4&3
= 1,42&3
s 24,3&1

Aeutlol, 2L U 101, B ReAUH Lol 2ol (HHUSIR oll U (Seicde] ad{[51 518 2% $Y, - Who

introduced the classification of obese, muscular, asthenic and mixed personality types? [ 1 Mark |

= 21ESel - Sheldon
= 3242 - Creshmar
. @ﬂ%ea - Hippocrates



= 32l - Jung

Hlold HII% BielD 326l AdISIN YId 82 - Approximately how many neurons does the human
brain contain? [ 1 Mark |

= 100 billion
= 150 billion
= 145 billion
= 200 billion

EEG el wq[’ﬂzﬂoﬂ (AR @21611 326l S1U B2 - What is the approximate range of EEG
frequencies? [ 1 Mark |

= 1TO2Hz

= 1TO 50 Hz
= 1TO25Hz
= 1TO 10 Hz

wissiusly Alelsdl ulaieleil uRLMl 58 sidid A 9. - How are the results of the
statistical significance test expressed? [ 1 Mark |

Ulels d§ldd - significant difference
eildell - Probability

wisS121H1YU IR - Statistical Findings
[dudet Ao{Y - Deviation relation

Adludls Gaust L dell deel $dl Hie el ofl M1dUSAL B? - What is required to
generate and conduct nerve impulses? [ 1 Mark |

Hl{J,bn ol Jefl2] - Muscles and glands
M&ld(j 4ol AdLSIN - Axons and neurons
@lb{ldg ol AdLSIY - Dendrites and neurons
(2ruitcid 2l AdLSIN - Dendrites and axons

VL qH s el Uedl(dSiiotell RU1US <12l - This is not the founder of social psychology. [ 1 Mark |

2IRS - Tarde
Alequle - Allport
A - Ross

153594 - McDougall

sy N0 (AN Al v {5.183 R||el E:l{l: ? - Which motivations did Freud first draw attention to? |
1 Mark |

Y{Jllcl - Unconscious
Al - Sexual

AUML[¥S - Social

24t %13 d - Sub-conscious

WABISRS (2181 HIeil SQ3R uty(d slsl Qfllq'l. - Who suggested the SQ3R methodology for
effective teaching? [ 1 Mark |

2\e{SL8S - Thorndike
Au{leel - Robinson
122552 - Peter Drucker
Cn@%-ld - Watson

2yl ] lell Bl B. - Dreams are an example of this. [ 1 Mark |

&0l [QUIRBLL - Dreams are an example of this.
= Stlellcds [AURRIL - Cognitive thinking

= U [AYIR8LL - Direct thinking

= Y5 [AURRIL - Free thinking



U [Scccloll ©SAMI $8 2iell Hscdeil @111 %A ® - Which gland plays an important role in
personality development? [ 1 Mark |

Q,S:l“lc‘l - Adrenal
218R18S - Thyroid
YIJHY - Thymus

Yleyesl - Pituitary

ws yRuIL qell °j, oll4 %¥QLLd). - State the name of one-dimensional scale. [ 1 Mark |

. [Elfsé(;l,cﬂ - Likert scale

. 0{13“5%{(16[[ - Bogardus scale
= J12He| d €l - Guttman scale
. QR%adgc‘ll - Thurstone scale

aldlas (ALl o 6l #1114 %LLdl. - Give another name for realistic Thinking. [ 1 Mark |

= 6ol [AY IR - Autistic Thinking.

= 215l [AUIRWIL - Critical Thinking.

» d5 sdledl [QuIRLL- Reasoning Thinking.
= [c914<1 (AY IR - Deductive Thinking.

s ASL(etd A verH nld [eAu i ell 22140 U A2AlUsil Slel YAUL - Which scientist first

carried out research on sex-determining chromosomes? | 1 Mark |

x WY S5 - M. Hopkins

= UY.&e50L - H. Henking

s (A[6UY BRY - William James
= % .6{l.dledel - J B Watson

el2sloil YyYssl ol GUYULIL .......... HI2 ALY B - Factor analysis is used to [ 1 Mark |

i ¥ WL UG ds1] it 2018dl - Find the relationship between independent
and dependent variables

» YGlef] YeUWtis 20Ydl - To find correlation of variables
= Hl[&dl gelsdl UL - To reduce information
= Y[l of dBlet $2dl HIL - To describe information

%‘-L[(“D-li Yl Hu ¢l ®1od 8. - This plays a major part in memory [ 1 Mark |

uiedil Ysel RY|s] - Selective attention
(4181 - Thinking

5@el| - imagination

Ule{150 - imagination

duLd sllddini elfA1R & w2q wH] o vllwdlti SlRAAIR &2, WEl 56 6d ofl AsAAL 2]

82 - Gopal is clever in speaking, so he will be clever in all things, what is the possibility of error
here? [ 1 Mark |

dl(5s €N - Logical error

[l €14 - Constant error

AULH LY UL ofl W] - Halo effect error
w[d YRR - Over familiarity

s12lell [Asdlaiudl «iss] sl «il d 562

Which is the method of determining the reliability of a test? (‘1)82{-18'1 Yol: su12l
(1) Test Re test () dHddl 54121

(2) Concurrent test (3)21{*'{ (e U.i(,[;t

(3) Split halves method (¥) AHidR $412l
(4) Equivalent test [ 1 Mark |

m 1,2&3
» 3&4



BHUJ il 24123 51@% Ui Home science oli Weld AW Ui 26ALA 53¢l 70 (Aatieflo{laila aveil
VURGHIL WA BidHi ALY sULedl $A12] AudIHi viid] 241 sALE1AAL S.D. (UHLBLA [Qudo)

oll Wis WIEHLl 7 ol id oll 11 B, dl WEl M1 «il [EUd 211t - 70 students studying in the
first year of Home Science in Bhuj s Arts College were given cooking test at the beginning and end
of the year. (Standard deviation) is 7 at the beginning and 11 at the end, so find the value of cM1
here. [ 1 Mark |

1.21
1.31
0.21
0.31

°6°'3.-1C1l°i Hy el lofl 2ieilcloll 326l? - What is the probability of death of the born? | 1 Mark |

= 100
= 0.1
= 1

= 0.1

oy (Seiofl @193 el BIULLL SRIMD 1SU 21 Geile di ) dal 9f S&cllY? - What if the
presence of another person increases the speed and enthusiasm in our work? [ 1 Mark |

= AU lﬂ@LEl - Sympathy

s dleld”] - Identification

= AULHL[S 2Aleddl - Social facilitation
. Q%lﬂ@j\cﬂ - Empathy

w14 LS m«mcﬂ Bl 1AL uldetldl el &l [cli[Ad et 82 -Emotional experience and
emotional expression are controlled by [ 1 Mark |

= 2 HULlEd UYL= - Autonomic nervous system
= Y[YeldA - Digestive system

» MG - Temperament

» 3481 -Limbic system

UL &{l51 oil UlsUL o sHUI A6l (1)ULSIR oll GiLEL Build (2)udLS1Y UL 3)u1S(d Wa
(‘Lﬁ-L‘sl ofl [GL3idll (4)2‘{](1111-[ - Streamline the process of Perception. (1)Appearance of shape

(2)Linear structure (3)Variation of figure and ground (4)Identification [ 1 Mark |

> b

3
2.
1,
1,

o

[NCT SN S

2

,1

,3,
3

5

AN W —

]
]
]
. 5

oflAoil Hiell 5¢ AdUAL sA12] steil. 1)04(eg sA12] 2)u1 (G121 54121 3)[GrA1UAL 5412

c(Selcdl 54121 Which of the following is not an ability test? 1)Intelligence test 2)Interest test
3)Aptitude test Personality test [ 1 Mark |

m 1&3
m 2&4
m 2&3
n 1&4

«u Y] ¢l FS 1A 512831 5 MIUGL ¢jddll S]] 5147 v [Atilel Slof & - “We forget

because we want to forget” Whose statement is it? [ 1 Mark |

= 641242 - Bartlett

« A [0{o1ElY - Ebbinghaus
= N&s| - Melton

= §16S - Freud

... Hi 821%=l &1U 87 - Estrogen is found in __ [ 1 Mark |



YN - Males

1V - Females

WLQ{14] - Animals

El_,btn 3| H]] - Males and Females

o [ASIA UHAL GLLNSHI 58 PBuleil Fldl HA B2 - What cravings are found in a developing child? |
1 Mark |

Mdls{l - To play

& 12l A2l - I will grow up
%)dst Badleil - To live life

S1522 Weldlefl - To become a doctor



